[ Efficiency vs vertpos |

o 10F | | T T
=] o <4 .
] o + T4+
x L - NP TR T
F T4 T+ d
1+ -+ |- -1+
F : : +|:
F o+ HiNP ¢

0.9
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_TT _original
Efficiend —e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24

—— DQM_TT__mod_modelsdeep_somethingbetter
~ 0.5

L R R H S S

ot T R
L S e S
> E : : : : :
2 E : : : : :
o
o o : : : :
£ 03 b
o E : : : :
O RS IR S
SR RO N R
R RS RS SRS S S R

A SSSURS TORRRN| USROS SRRRRRN SRR NI

Y0 S . #*“ m WH% ------ -
E : +.¢ : :

[N TSP AR Al PR S

5 '

D:ll_— --------------- - F -] EE CEEEEET B
S e 111111110 A
-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02
0.03

10

Ratio

o na xRS GRS 220 2 Ok R

5 10 15 20
Sim. PV z (cm)

"
+

|
N
o
|
[aay
o1
|
o
|
[é)]
o



	Contents
	Page 1


